Potencias de 10 (C)

8,416 1073

7,934+ 1073

1,557 1073

4,134 =103

9,075+ 1073

1,387+ 1073

5,68 1073

8+1073

9,217+1073

0,078 =103

Calcule los siguientes cocientes.

0,189 + 103

8,479 = 1073

2,545 +1073

3,564 1073

1,298 = 1073

5,636+ 1073

4,254+ 1073

3,493+ 1073

5,688 1072

3,401 =103
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Potencias de 10 (C) Respuestas

8,416 1073
8.416
7,934 =103
7.934
1,557 1073
1.557
4,134 =103
4.134
9,075+ 1073
9.075
1,387 1073
1.387
5,68=1073
5.680
8§+1073
8.000
9,217 +1073
9.217
0,078 = 1073
78

Calcule los siguientes cocientes.

0,189+ 1073
189
8,479 1073
8.479
2,545 +1073
2.545
3,564+ 1073
3.564
1,298 =103
1.298
5,636+ 1073
5.636
4,254 =103
4.254
3,493 1073
3.493
5,688 =103
5.688
3,401 =103
3.401

MatesLibres.Com




